An Apparent Volume of Sawdust from One Cubic Meter of Log

Hiromu ENDO Minoru MORIYAMA
Shigeo NAKAMURA Shinya HAYAMIZU

Two types of sawdust-producing machines were examined The first one named
Type A had many blades and the second one named Type B had several circular
saws From the results of the experiments it was found that the value obtained
by dividing the apparent sawdust volume by the log volume became large with
the increase of the moisture content of a log This value was different from species
to species but when the dry basis moisture content was 100  the value was about
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B Table 2 The apparent volume of sawdust from 1nf of log.
The log volume was calculated from its weight and
density.
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Wood  |Dry Appare- Type
species |basis nt volu-
m? moistu- |me of
re con-|sawdust
tent [packed
through
_ screen
#n7<v | 20.8 | 1.79 A
Larch | 28.0 | 2.22 )
A B 33.1 | 2.90 [3.01]2.701
35.0 | 3.18 [3.51]2.97[1
43.4 | 3.36 [3.76]2.96]1
49.2 | 3.26 [3.33(2.85[1
59.0 | 3.56 [3.95[3.11[1
132.7 | 3.79 [3.98(3.29]1
+ 5| 63.1] 3.03 [3.30(2.62]1.
B1E ROFKTLSFA LM YL 04 ripriek Ok [ 65.0 | 3.35 [3.77]2.97]1
Table 1 The apparent volume of sawdust from 1ni of log. | 66.4 | 3.08 |3.45 2_.7_3 1
The log volume was derived from Equation, vV=d®1. £ 70.1 | 3.22 |3.57(2.74!1
where V= log volume, d= diameter of the but end, 71.8 | 3.43 [3.80(2.88[1
and 1= length of the log, 72.5 | 3.24 |361 |2.84]1
B | Ak O Eé'ﬂrﬁmﬁﬁ 47 #H 5| 39.3 | 2.76
" D'(o/f.i. I)(cm) 1(3211 " (m')l T Birch | 55.8 | 3.60
ood ry basis iameter | le pparent volume | Type
species | moisture of top | (m) |of sawdust 70.6 | 3.45 |3.60|2.85]1.
content end (en) (nt) 76.1 | 3.45 [3.51(2.81|1
(%) 86.6 | 3.78 (3.91(3.09]1.
A7<wv| 20.8| 6.0 | 8.2 [2.15] 2.65 A Frwv] 61.8 | 2.45 '
Larch | 28.0 | 11.5 | 13.5 |2.12| 2.02 .
43.9| 6.3 | 7.9 |4.80| 4.42 Fir | 69.5 | 2.64
rFey Toral o0 11z 20l 33 124.9 | 3.33 [3.77]2.86]1
Fir | 69.5| 7.5 | 10.0 |2.14| 3.98 ¥ o 47| 63.0 | 3.05 3.33(2.67]1
124.9 | 10.3 | 12.0 [3.67 3.82 Cork tree | 85.3 | 2.73 3.10!2.42]1
A %) 39.3| 6.6 | 8.5 (2.15| 3.37 85.3 | 2.79 |3.052.57)1.
Birch | 55.8 | 8.5 | 9.5 |2.39] 3.26 vF+/%| 97.5 | 3.36 [3.5512.73[1
' 7.8 | 6.9 | 9.0 |2.78 4.26 Basswood|104.5 | 3.42 |3.692.77|1
+ 5| 67.1| 6.4 9.0 [3.78] 5.95 105.2 | 3.80 [4.05(3.14]1
Oak | 69.2| 8.8 | 11.2 |2.17| 3.86 7% 4 28 _
SF/%0102.4 | 7.2 | 9.7 [2.14] 4.66 Maple [
Basswood Fosx| 45.3 | 2.75 |
¥~y 779 7.3 9.7 [3.81] 4.12 Poplar '
Cork tree il /N[ 32.8 | 2.00 P B
4 % x| 27.4| 9.5 | 12.0 |2.15] 2.78 _Birch < 54.6 | 3.12 i
Maple ¥F/% | 23.3] 2.29 H
Fo/#| 45.8 | 10.2 | 12.0 [2.13] 3.01 Basswood| 89.4 | 3.00 !
Poplar 102.1 | 3.81 [3.963.17(1.04
# s3] 32.8( 5.8 9.0 [2.10] 4.42 B FFwY | 86.2 | 2.76 |
Birch | 54.6 | 9.3 | 10.5 z.o;) Z.Zg Fir [104.9 2.9 ]
¥+/%| 23.3| 6.5 | 9.0 [2.1 . . j
Ba;:wojd 89.4 | 9.0 | 11.0 (2.21] 3.39 Footnotes : a) I*;:;’wrem volume of sawdust packed in
way.
FFvv) 86.2| 9.0 | 11.2 |2.14] 3.51 b) The apparent volume of sawdust packed
Fir with shaking.
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Figure 1 The relationship between

the apparent volume of sawdust from
1 m? of log and the moisture content.

I

Apparent volume of sawdust

&
i

—

(

m)
or s
g} |Bass wood 2% O
6 Birch # /1| @
Fir MF=viO
4 (@)
—0—95 "
—_— [ J D'D
(o]
2—
/ B type
1 1 1 L1
20 40 -60 80100 (%)

LB N N
Dry basis moisture content of
the log examined

F2M EEA ABHARE L EKROBAK
Figure 2 The relationship between
the apparent volume of sawdust from
1 m® of log and the moisture content.
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Table 3 T heapparent volume of sawdust from 1m of log.
‘When the dry basis mositure content was 100%.
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Ranking| Wood species Apparent volume | Type
of sawaust
1 |# /{Birch 3.8 A
#17</ Larch 3.8
2 3+ 7 % Bass wood 3.6 o
3 41 % X Maple 3.4
+ 7 Oak 3.1
" 4 "ru /% Poplar 3.1
5 FFwY Fir T 3.0
s * /N ¥ Cork tree 2.9
1 #  /Birch ! 3.4 | B
¥+ /% Basswood| 3.4
2 | k F= Fir | 2.9
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